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P6 - ReviewPackageOne

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1.

Samir can type 85 words per minute. How long will it take him to type 2800 words? Round to the nearest
minute.

a. 27 minutes ¢. 33 minutes
b. 41 minutes d. 40 minutes

To mix juice from concentrate, you must use a ratio of 1 cups of concentrate to 3 cups of water. If you want
to make 10 cups of juice, how much concentrate and water do you need?

0.23 cups of concentrate, 9.77 cups of water
2.5 cups of concentrate, 7.5 cups of water
0.33 cups of concentrate, 9.67 cups of water
0.9 cups of concentrate, 9.1 cups of water

;ae op

A chainsaw’s engine uses a mixture of 30 L of gas and 2 L of oil. How much oil must you mix with 5 L of
gas to refuel the chainsaw?

a. 0.33Lofoil ¢. 04Lofoil
b. 12L ofoil d. 75L ofoail

A recipe for chocolate chip cookies contains:

. 2% cups of flour

. % cups of brown sugar
* 1 cup of butter

o1 % cup of chocolate chips

What is the ratio of flour to chocolate chips?

a. 5:2 c. 3:2
b. 23 d 13

It cost Steve $135.75 to buy 15 albums from an online music store. How much did 1 album cost?

a. $14.48 c. $4.53
b. $1.66 d. $9.05
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6. Which price is the best deal?
i) 12 pens for $15.64
ii) 8 pens for $10.92
iii) 3 pens for $3.75
iv) 2 pens for $2.90
a. 1 ' _ c. iii
b. i d. iv
7. What is the difference in price per unit between chicken sold at $23.24/kg and turkey sold at $5.17/250 g?
a. $3.07 c. $2.56
b. $0.11 d. $2.05
8. Ulysses is purchasing a new car with a price of $20899.00. He lives in Alberta, where there is no provincial
tax and GST is 5%. Calculate how much tax he must pay on his new car.
a. $21943.95 c. $22361.93
b. $1462.93 d. $1044.95
9. Tona buys a new home gym for $2075.00. Calculate the PST and GST if she lives in Saskatchewan.
Tax Rates
PST GST
Alberta 0% 5%
British Columbia HST 12%
Manitoba ' 7% 5%
Northwest Territories 0% 5%
Nunavut 0% 5%
Saskatchewan 5% 5%
Yukon 0% 5%
a. $103.75 GST, $103.75 PST c. $103.75 GST, $145.25 PST
b. $145.25 GST, $103.75 PST d. $103.75 GST, $0.00 PST
10. What would you have to pay for a new pair of jeans that cost $34.24 if you live in Yellowknife, NWT, where
the only tax is 5% GST?
a. $39.55 c. $43.14
b. $35.95 ‘ d. $28.76
11. What is the total cost of a cordless drill that is being sold for $110.74 in Whitehorse, YT, where the only tax

is 5% GST?

a. $93.02 c. $116.28
b. $127.90 d. $139.53
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12. A video game system is regularly priced at $299.00. Its sale price is $254.15. What is the discount rate, as a

percent?
a. 85% | c. 20%
b. 10% ' d 15%

13. Tracy saw an advertisement for a store sale offering all purses at 15% off. The purse Tracy is interested in
retails for $40.98. How much will the purse cost after 12% HST is applied to the price?

a. $39.01 c. $54.62
b. $34.83 d. $23.41

14. 1 Australian dollar is worth $1.15 CAD. If you have 725 Australian dollars, how many Canadian dollars can
you exchange them for?

a. $630.43 c. $917.12
b. $833.75 d. $750.37

15. The bank buying rate for 1 euro is $1.56 CAD. If you have 1025 euros, how many Canadian dollars can you
exchange them for?

a. $1758.90 c. $1439.10
b. $1599.00 d. $657.05

16. If Qi purchased 4305 Chinese yuan for $700.00 CAD, what was the bank’s selling rate?

a. 6.15 c. 0.162602

b. 0.1300816 d. 0243903
17. If Pietr sold 1225 Scottish pounds for $2445.28 CAD, which of the following is closest to the bank’s buying
rate?
a. 1.59692 c. 0.50097
b. 1.99615 d. 2.99423
18. The bank’s selling rate for Czech Republic koruna is 0.06238. How many koruna will you get for $150.00
CAD?
a. 2404.62 koruna c. 6.26 koruna
b. 31.19 koruna d. 39 968.03 koruna

19. The bank’s selling rate for Brazilian reals is 0.697000 and the buymg rate is 0.534900. How many Canadian
dollars would you get for 150 reals?

a. $215.21 c. $104.55
b. $80.23 d. $280.43
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20.

If the selling rate of Indian rupees is 0.02532 and the buying rate is 0.02087, how much money would you
lose if you exchanged $75.00 CAD for rupees and then converted them back to CAD on the same day?

a. $11.60 c. $13.18
b. $16.08 d. $15.99

Short Answer

1.

The ratio of Grant’s weight to Gregory’s weight is 6:7. If Gregory weighs 115 kg, how much does Grant
weigh?

The ratio of George’s weight to Tia’s weight is 6:5. If George weighs 45 kg, how much does Tia weigh?

Organize the prices below from lowest to highest unit rate.

355 mL of pop $0.44

2 L of pop $1.39

1 L of pop $0.64

One type of fabric costs $8.78 for 1 m of fabric and another costs $42.25 for 5 m of fabric. Which fabric has
the lower cost per metre? .

Which is a better buy: 8 ounces of cheese for $5.63 or 12 ounces of cheese for $7.87?

Soraya is a contractor renovating a house. She bought 15 hinges costing $288.60 to install new doors. How
much did each hinge cost?

The price of a new 3-D TV is $2889.00. Calculate the cost including PST and GST if the TV is sold in
Saskatchewan.

Tax Rates
PST GST

Alberta 0% 5%
British Columbia HST 12%
Manitoba 7% 5%
Northwest Territories 0% 5%
Nunavut | 0% 5%
Saskatchewan 5% 5%
Yukon 0% 5%
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8. Use the following chart to calculate the cost of buying 2 T-shirts, 2 pairs of shoes, and 4 pairs of jeans.

9.

10.

Problem

1.

Clothing Article ‘Wholesale Price Markup
T-Shirt $17.50 15%
Shoes $77.50 65%
Jeans $45.00 30%

Pablo is visiting Canada from Mexico. He is renting a hotel room for 4 nights in Vancouver. The cost of the
hotel room is $75.00 CAD per night. Pablo exchanges his pesos for Canadian dollars at a bank in Canada.
The bank buys pesos at $0.19779 CAD and sells pesos at $0.08087 CAD. How much will the hotel cost him,
in pesos?

You have 497.94 British pounds, which you are exchanging for Canadian dollars at a bank in Canada.

a) Do you have more or less money than is needed to purchase a new TV that sells for $1225.00 CAD?

b) How much more money do you need or have extra, in pounds?

Country Currency Buying Rate Selling Rate

Great Britain

Pound (GBP) 1.8413 1.9681

Howard works as a carpenter. He has been asked to check if the grade of the ramp leading into the public
library is safe for wheelchair access. In order to be safe, the ramp must have a ratio of height to length no
greater than 1:12. Howard measures the ramp to be 20 feet long and 2 feet high. Find the ratio of height to
length. Is the ramp safe for wheelchair use?

You are having a party and need to purchase pop for 44 people. You estimate each person will drink 2 cans
of pop. You can purchase single cans for $0.59, 6 cans for $3.43, 12 cans for $6.73, or 24 cans for $13.17.
How much will it cost to buy the pop for the party without having any extra pop left over?

Three grocery stores have advertised their price for packages of pork chops:

Store A [$3.25/500 g
Store B $5.85/kg
Store C $11.38/2 kg

a) What is the unit price of pork chops at each store, per gram? Give your answer to 4 decimal places.

b) What is the cheapést way to purchase 3.5 kg without any wasted meat?
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4. Use the following table to calculate the cost of buying 5 T-shirts, 2 pairs of shoes, and 6 pairs of jeans.

Regular Price

Clothing Article Discount

T-Shirt $20.00 15% off all T-shirts!

Shoes $92.50 Buy one pair, get one half off!
Jeans $45.00 Buy one, get one free!

. You have 1 500 000 won, 674 francs, and 470 USD. How much is that worth in $CAD?

Canadian Bank Foreign Exchange Rates for Buying and Selling

Country Currency Buying Rate Selling Rate
South Korea Won (KRW) 0.000 774 0.001050
Switzerland Franc (CHF) 1.0213 1.1085
United States Dollar (USD) 1.1210 1.1810




